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QUESTION 1

A medical facility has signed an agreement with a service provider that guarantees response times to be within a certain
threshold until the term expires. 

Which of the following would define this agreement? 

A. BAA 

B. Waiver of Liability 

C. MOU 

D. SLA 

Correct Answer: D 

 

 

QUESTION 2

Which of the following is the BEST way for a technician to secure a laptop on a doctor\\'s desk in an office? 

A. Lock the laptop using a cable lock. 

B. Place the laptop in a locked office. 

C. Ask another technician to watch the laptop. 

D. Place the laptop in a locked cabinet. 

Correct Answer: A 

 

QUESTION 3

A manager requires the ability to view and edit documents on a share, but should not be allowed to create new
documents or delete others. 

Which of the following permissions should the manager be given? 

A. Modify 

B. Read 

C. Full Access 

D. Write 

Correct Answer: A 
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QUESTION 4

A medical facility needs to setup a SAN. Which of the following is a typical SAN interface? 

A. RAIS 

B. Cluster 

C. Virtualization 

D. iSCSI 

Correct Answer: D 

 

QUESTION 5

Which of the following is an advantage WPA2 has over WPA? 

A. Double bandwidth potential 

B. RADIUS authentication 

C. TKIP encryption 

D. 802.11i compliance 

Correct Answer: D 
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